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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
|_cach sentence. _mark

1-  The geology student made a surprising discovery; the volcano believed to be ......... was
about to erupt.
1) dormant 2) temporary 3) affable 4) vulnerable
2-  We waited for the storm to ........... before we left.
1) abase 2) abide 3) abridge 4) abate
3-  The minister desired the position simply for the .......... associated with it.
1) scope 2) status 3) origin 4) feature
4- The........... researcher made sure to check her measurements multiple times.
1) initial 2) vague 3) diligent 4) apposite
5-  Denver’s impractical plan to build a subway system was .......... in 1970s.
1) surmised 2) scrapped 3) strived 4) scattered
6-  eeienenne. such as hair color and eye color are inherited genetically from one’s parents.
1) Traits 2) Dimensions 3) Omens 4) Enigmas
7-  The company has ........... $1000 to the team to get the project started.
1) ascribed 2) bestowed 3) deposited 4) allocated
8- After a week the jury had still not reached a ............ .
1) status quo 2) sequence 3) verdict 4) suspect
9- Heavy rains had .......... the expedition’s progress through the north-west of the country.
1) abandoned 2) hindered 3) evaded 4) distressed
10- The rattlesnake is the most ............. snake in the Untied States.
1) venomous 2) zealous 3) haphazard 4) ancestral

[

L

The ancient Romans built an extensive and (11) ......... to serve their needs. The Roman road-
building era began in 312 BC. The roads provided economic and military access from Rome to
distant parts of its far-flung empire. The first road (12) .......... the Appian Way, which led,
from Rome to Brundisium (now Brindisi), a port (13) ......... is now southern Italy. The
Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road,
from Rome to Naples, provided the first stage of the route 14y .......... by troops headed to
Africa. Roman advances in road-building techniques included preparation of foundation soils
and base courses, brick paving , and, (15) .......... , provision for adequate drainage.

11- 1) roads of durable system 2) system of durable roads

3) durable system of roads 4) durable road of systems
12- 1) was constructed 2) was to construct

3) that was constructed 4) constructed was
13- 1) in which it 2) in what 3) where is 4) which it is
14- 1) used 2) using 3) be used 4) was used
15- 1) the more important 2) most important

3) the most important 4) most importantly
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Directions: Read the following two passages and choose the best choice (1), (2), (3),
or (4). Then mark it on your answer sheet.

PASSAEG 1:

Given two finite sets, we can always decide whether or not they have the same number of
elements, and if not, we can always determine which set has more elements than the other. It is
natural to ask whether the same is true of infinite sets. In other words, does it make sense to
ask, for example, whether there are more circles in the plane than rational points on the line, or
more functions defined in the interval [0 , 1] than lines in space? As will soon be apparent,
questions of this kind can indeed be answered.

To compare two finite sets A and B, we can count the number of elements in each set and
then compare the two numbers, but alternatively, we can try to establish a one-to-one
correspondence between (the elements of) A and B, i.e., a correspondence such that each
element in A corresponds to one and only one element in B and vice verse. It is clear that a
one-to-one correspondence between two finite sets can be set up if and only if the two sets
have the same number of elements. For example, to ascertain whether or not the number of
students in an assembly is the same as the number of seats in the auditorium, there is no need
to count the number of students and the number of seats. We need merely observe whether or
not there are empty seats or students with no place to sit down. If the students can all be seated
with no empty seats left, i.e., if there is a one-to-one correspondence between the set of
students and the set of seats, then two sets obviously have the same number of elements. The
important point here is that the first method (counting elements) works only for finite sets,
while the second method (setting up a one-to-one correspondence) works for infinite sets as
well as for finite sets.

A one-to-one correspondence can ------------- .

1) not be established for infinite sets

2) only be established for discrete functions

3) only be established for continuous functions

4) be used as an alternative to counting elements of sets for comparison
Concerning two infinite sets, it is ---------- .

1) possible to establish whether one has more elements than the other

2) impossible to establish whether one has more elements than the other

3) irrational to ask about their comparative size

4) always appropriate to assume the existence of a one-to-one correspondence between them
Consider the following two questions:

(1) Are there more circles in the plane than rational points in space?

(2) Are there more functions defined in the interval [0,1] than lines in space?
Choose the correct sentence.

1) Both questions are meaningful. 2) Both questions are senseless.
3) (1) makes sense but (2) does not. 4) (2) makes sense but (1) does not.
A one-to-one correspondence between two sets A and B is established --------- each

element in A corresponds to an element in B.
D if 2) only if 3) when 4) if and only if
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Counting ----------- as a means for establishing whether a set A has more elements than a
set B.

1) always works 2) never works 3) is inappropriate 4) may not always work
PASSAGE 2:

There is one more problem about the determinant. It is difficult not only to decide on its
importance, and its proper place in the theory of linear algebra, but also to dec1de on its
definition. Obv1ously, det A will not be some extremely simple function of n? variables,
otherwise A™ would be much easier to find than it actually is.

The simple things about the determinant are not the explicit formulas by which it can be
expressed, but the properties it possesses. This suggests the natural place to begin. The
determinant can be (and will be) defined by its three most basic properties. The problem is then
to show how, by systematically using these properties to simplify the formulas, the value of the
determinant can be computed. This will bring us back to Gaussian elimination, and to the
product of the pivots. And the more difficult theoretical problem is to show that whatever the
order in which the properties are used, the result is always the same-the defining properties are
self-consistent.

The next section lists the defining properties of the determinant, and their most important
consequences. Then Section 4.3 gives several possible formulas for the determinant—one is an
explicit formula with n! terms, another is a formula “by induction,” and the third is the one
involving pivots from which the determinant of a large matrix is actually computed. In Section

4.4 the determinant is applied to find A"'and then to solve for x=A"" b; the latter is Cramer’s
rule. And finally, in an optional remark on permutations, we prove that the properties are self-
consistent, so that there is no ambiguity in the definition.

The computation of A™ —----—- .

1) is difficult because Gaussian elimination cannot be used

2) results in explicit formulas for the determinant

3) is possible by means of the determinant

4) is only possible by means of Cramer’s rule

The determinant ------------- .

1) has a simple definition expressed by explicit formulas

2) can be computed by means of the pivots in Gaussian elimination

3) is useless in the theory of linear algebra

4) is complicated to compute because Gaussian elimination is a complicated process

Itis -—--=-memmem- the properties of the determinant are self-consistent.
1) easily established that 2) difficult to establish whether
3) impossible to establish whether 4) inappropriate to ask whether

The determmant of a matrix A is not easily at hand because ----------- .
1) A" is hard to compute

2) it does not have simple properties

3) simple functions for its definition do not exist

4) the defining properties are not self-consistent
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Choose the correct sentence.

1) The determinant is extremely useful in mathematics.

2) The determinant is not useful for solving linear equations.

3) The determinant does not have a proper place in the theory of linear algebra.

4) Basic properties of the determinant can be used to simplify the explicit formulas for its
computation.

|

In the following 5 questions, select the most appropriate selection.

Mathematics is -------- by its so many applications.
1) enriched 2) adversely effected 3) degraded 4) merely identified

Mathematics shares much in common with many areas in physical sciences, namely, the
exploration of the logical of .

1) proof / axioms 2) axioms / choice

3) consequences/ assumptions 4) theorem / alternatives

This is a difficult way to solve the problem. You should think of -----—---- solution to the
problem.

1) a proper 2) an alternative 3) an alarming 4) a convoluted

You need to give a reason. There is no -------- behind your argument.

1) logic 2) quantity 3) quality 4) optimism

Students are not attracted to mathematics. We need to make ---——----- changes to our
approach in teaching mathematics.

1) cosmetic 2) fundamental 3) astonishing 4) affordable
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1 1 26 1 51 3 76 1
2 4 27 3 52 3 77 4
3 2 28 2 53 2 78 3
4 3 29 1 54 2 79 4
5 2 30 2 55 2 80 3
6 1 31 4 56 1 81 2
7 4 32 1 57 4 82 4
8 3 33 2 58 3 83 3
9 2 34 4 59 1 84 2
10 1 35 1 60 4 85 2
11 3 36 3 61 1 86 4
12 4 37 2 62 1 87 2
13 2 38 3 63 1 88 4
14 1 39 4 64 2 89 1
15 4 40 2 65 2 90 4
16 4 41 1 66 1 91 2
17 1 42 4 67 1 92 1
18 1 43 3 68 2 93 1
19 4 44 3 69 3 94 4
20 4 45 3 70 3 95 2
21 3 46 2 71 2 96 4
22 2 47 3 72 4 97 3
23 2 48 4 73 1 98 2
24 3 49 1 74 2 99 2
25 4 50 2 75 3 100 1
Jlow oyloss|  cumo @S o o)los | o awsS | | Jlow ojlos | aueo awsS Jlow oylocis | cumo s
101 3 131 161 191
102 4 132 162 192
103 2 133 163 193
104 4 134 164 194
105 1 135 165 195
106 4 136 166 196
107 2 137 167 197
108 4 138 168 198
109 3 139 169 199
110 4 140 170 200
111 1 141 171 201
112 2 142 172 202
113 4 143 173 203
114 4 144 174 204
115 1 145 175 205
116 3 146 176 206
117 1 147 177 207
118 3 148 178 208
119 2 149 179 209
120 4 150 180 210
121 4 151 181 211
122 1 152 182 212
123 3 153 183 213
124 4 154 184 214
125 2 155 185 215
126 2 156 186 216
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